8. HANMKAFITEMERIZIT

O &% O HMEREREE
1. BE: REm=30kg
B 1% D1=(300 mm
2. EY): 8 m2=40kg
H 12 D2=0200 mm
3. B n2<20rmin (EEE)
4. MIERATE: 11<0.25
5. HhAE: REFE r=30mm
B RE =01
6. SEEHEL: 1322
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4 BUEEREEE. MEAREE, HEEERSOHERE
5. BUREMBRHEE. EEARL. RERY. EHUE,
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« BYRRET R RAREE. RERIUARL, TRENSREER
- BURNSRHEE. AIEE, HHERNHE
« BHIIR. SREEE. HEL, R FRERED , ERESENRER
< BHE (GEER[2D EREENTME
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Mgk 1= M 1300

N2%i3 = 20%2 =32.5 (HMVHIFEEIE n1=1300r/min)

EERBELL RS, B i2=36

2. BEEREFEEM

BERAHESE: M=y x (ml+m2) XgXxr
=0.1 X (30+40) % 9.8 X 0.03=2.06 N - m

3. fnIE A HFEAE M2
1) REEERE I3

m1D1*_ 30x0.3"

_ L m?
8 8 =0.34kg - m

EEEERE =

m2D2° _ 40x0.2°
8 8

BYENRE 2= =0.2kg - m’

P ENIRE J3=J1+J2=0.34+0.2=0.54 kg - m’
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2) EAMEE O :

§ N 2 X n2 2 x 20 2
N = = = .
MFHMEE: d 8011 60 0.2 10.47 rad/s

3) MIERMAEEFEFE M2
IR EEESE: M2=J3x O =0.54%10.47=5.65N - m

Fe S M BB M3
M3=M1+M2=2.06+5.65=7.71N - m

FELATL R0 IE A1 B L i DR B R AR M4

_ M3xfc _ 7.71x1.5 _ _
Md=—an = 2x0g = BNm

feZeRZH: 1.5~2; BUEEI®ERN =0.8
B a5 M5

M5=M4+i2=7.23+36=0.2N - m

AT P:

M5xn1 0.2 1300
P="955 = o955 =-27-23W

AR AXRARMEY, HPEMEBEIEEENATERERN0.7F,
HUBE AR NN K 1+0.7=1.43F.

BICRA =48 220V FRoE AL, BLE MR A
AR AL IE A

PAP>27.23W, i2=36, M4 >7.23N - m

B <EGREER[2]> P29 TUEAM

40 W R B AT e- WEP > 27.23W
BELE 1:36 90YS40GY22+90GK36H
BREHEHE 7.52N + Mmoo #E4EM > 7.23N - m

BIUCRA =48 220V #rofmal, RRELMBEEH

gyl
B GRaBER[2] P268 kLI
A025 3372

B ONEE: gfE220V
MY EE: =4E220V,
B2 = 48 220V #7& F A5 B 025255558
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